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Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficulties in ____. / Taeii=aT (3Mfefe®) s=i & P HfSTE gt g1
1. Vision / ﬁ'@

2. Intelligence / g@

3. Social interaction /Wﬁ?ﬁw

4. Body movement / IRR Tfa=ierdn

Correct Answer :-

o Social interaction / JrHIS U

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

YUY agR faxauur f & fore ue aiftres yuTdt SuaRTare faftr T < @:
1. Dyslexia/ f&xaiaRmn

2. GDD / SiIgtet

3. ADHD/ TSITgEl

4. ASD/ TTHS!

Correct Answer :-

- ASD/ TTHS!

3) Which of the following is not true about the team teaching method? / 9 Rrer vgfa HIN A FafafRad Q Cac kel =r€r%7

1. Difficulties are faced in maintaining harmony among team members / M F HT'RT?[ & S g CRILY RGO ke Eb'%_*ﬂ%'fh T JHAT HRAT Usdl %I
2. It is cheaper than other methods of teaching in terms of finances / U8 fas H’Q'?-f o fRreqor & 3y fafer ot qga-r o = %I

3. Teachers get better opportunities for optimal utilization of human resources / HIHd TG & FaraH ST & T%TQ fQT&[ﬁ Eall a’s?ﬁ 3R firaa %I
4. It is a highly flexible method of teaching in terms of scheduling / T8 wg-FuiRor & def o Rrermr w1 uw 3 e R Bl

Correct Answer :-

« It is cheaper than other methods of teaching in terms of finances / Ig o & T o fRreor & o=y fafday &t SR IRl

4) Which of the following elements is there in problem-solving skills?/ fafafad a P T FAT-FER Pige & g %?
1. only the steps to reach the goal / FHId qd dD UE\IT"I%T & T

2. only the goal /éﬁﬂ &g

3. only the problem / FHad qER

4. all of the above/ SR Faft

Correct Answer :-

« all of the above/ IURTGT G+



A child thinks that because he wants to have pizza for dinner, his parents must want it too. What type of thinking is this? / T& d=l Jrerar % f& i‘[ﬁ?
g I & WA F g e arean 2, @ 37 Arar-fiar 31 +ft ot @ifte) gz 5 ver @t 9 @2

1. Meta-cognitive thinking / ST (Hel-HHTHD) fid
2. Egocentric thinking / @dfad GRfe®) fidT

3. Abstract thinking / @I'{Ef Ria

4. Psychotic thinking / RIS ([AR®IeH) fd

Correct Answer :-

« Egocentric thinking / W fed @NIf®) fid

6) Learners learn best when / ﬁT&ﬂiﬁm ISt GRS Jraa % Sod_

1. they listen to the teacher and obey all classroom rules. / g e o1 aﬁw % 3R P b gt e &1 ure W%I

2. they understand the lesson and write good notes. / 3 ﬁq'q a'ffﬂ'ﬁlgl?f % GﬁT \"H@ :hw mﬁ %I

3. they understand the relevance and are motivated to achieve the learning goal. / 3 U & Wﬁ % IR AP &I B U A & ﬁ"TQ PIEG Eﬁﬁ %I
4. they follow all rules and are quiet in class. / 3 it Frowl o1 U HRa § SR e H id 38 o

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / 3 URifiIpar ot H’H@ﬁ % 3R 3T & & Y U H B 1%1? ofa aﬁ %I

7) The seat of Intelligence in human brain is WG] Aferss A g@ Ak %I

1. Brainstem / STRH

2. Cerebellum / Gﬂ'ﬂﬂ%@ﬁ (@ﬁv_v‘lﬂ)
3. Cerebrum / THRKTSH m

4. Spinal cord / FHGUS (WTSH Hls)

Correct Answer :-

. Cerebrum / JARTSH m

8) Which of the following is the best way to increase correct responses and appropriate behavior? /
gt ufafsranaii sk 3fud aeR @1 9gM & e Fufafed # @ o9 a9 sro1 afier 32

1. Punishment / 8

2. Praise / U=T

3. Ignorance / 3T

4, Strictness / Tt

Correct Answer :-

« Praise / U=l

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of exceptional children? /
SRTYRYT gl 31 AIER Haeh gAwrsi & g 3R STaR & Ry smd W v faft &1 Sy faan s &2
1. Survey method /ﬁ&m fafdr

2. Case study method /Ww fafer

3. Observation method / ﬁlﬁ&‘l'UT fafy

4, Experimental method / AT fafy



Correct Answer :-

« Case study method / P9 el fafy

10) Which approach believes in teaching reading based on sounds? / g} & YR W U3-UT64 A i IT eDF01 Ay Ha1 82
1. Analytical / fa=eryonaT®

2. Syllabic/ JTeG=1

3. Global / et

4. Phonic / BIA&

Correct Answer :-

« Phonic / BifF®

11) According to Thompson, children can identify their own gender by the age of/ YT & SR, T A WY & o Y UgdH g9 39 J B
TPAE:

1. Five years /ura oy
2. Two years kL

3. Four years / IR af
4. Three years / dFaf

Correct Answer :-

e Three years / oy

12) What is the term used to describe a person’s tendency to remember positive rather than negative experiences?/
APRIAS SFUAT & T THRIAS a1G 3@ & g fedt safea a9} vafy &1 aofa w37 3 759 ug &1 Swah fawar sirar 32
1. Rehearsal effect / rgafmm RIC)

2. Retroactive effect / Wﬂlﬂa

3. Lightbulb effect / digcded YHIT

4. Pollyanna effect / Trefan yuTE

Correct Answer :-

e Pollyanna effect / Trefa gy

13) What type of memory is sometimes referred to as nondeclarative memory? /

5 TR F Ffa F FU-FUR srEvuITHS Vfa F T & ST S 82
1. Autobiographical memory / STeaRd (Hﬁm F{ﬁf

2. Factual memory / TATHD Wﬁ

3. Short term memory/?l'ﬂ—ab—l?ﬁ:l @jﬁ

4. Procedural memory / Um'l?ﬂ?ﬁ@jﬁ

Correct Answer :-

« Procedural memory / UfshaTHS® @jﬁ

14) An assessment that is carried out throughout the course is called N
g ATHE Wil Q¥ UTSUshH &b SR fohaT ST &, HgaEi gl
1. Formative assessment / TdATHD HTh AT

2. Summative assessment / WW



3. Diagnostic assessment / WW
4. Tnitial assessment / TRTY& STpar

Correct Answer :-

» Formative assessment / XdTHSD b

15) Which of the following is not a form of bullying? / Fafaf@a & a P T ISUTRN HT Th =9 1 82
1. Teasing other children / 3= T Bl %37'”

2. Pushing other children / 370 @i B1 YT oA

3. Mutual exchange of lunches / &9 &1 URTIR® 3faell-gaa

4. Insulting other children / W ol BT YA HRAT

Correct Answer :-
« Mutual exchange of lunches / &9 &1 TR 3fGaAl-gal

16) Which of the following clinical procedures are based in part on classical conditioning?/

FrafafEa & & o 9@ Aerte uftean e SR w snurfia 32
1. Token economy / G Eﬁﬂqﬁ

2. Two chair techniques / § PR THAIDT

3. Transference/ RITAIARUI

4. Systematic desensitization / TITRYT ﬁm

Correct Answer :-

« Systematic desensitization / TG W@W

17) Which chromosome is responsible for determining that the child is born male? /

B A1 R T8 Fufia #3 g Swrerdt §ia1 2 i s R Gergen @2
1. Y chromosome /'Y ORI
2. C chromosome / C TUREA
3. L chromosome / L ORI

4. X chromosome / X UL

Correct Answer :-
* Y chromosome / Y T[URTA

18) If a child has no problems with any schoolwork other than reading and writing, what could he be diagnosed with? / afe fodt T B tl'aﬁ 3R forem

¥ 3rarar el 3T T P P HIS TA™T e §, < 32 fra Frefia i s wwar g2
1. Learning disorder / 3ffeATH fd®R

2. Communication disorder / TaR fd®R

3. Mental retardation / HIFRI® Hedl

4. Intellectual disability / G Sf&ma

Correct Answer :-

« Learning disorder / 3T fA®R

19) A child searches for an object where they previously found it even after they know it moved to another location. This approach is seen because of

limitations relating to /WWWMW@@WM%ﬂg’f%mﬁmmﬂﬁﬁﬁ%mmﬂ%l !rs'eﬁaﬁw ke |
Feiftra W13 & HTROT 3T AT Bl



1. Attachment/ 3{JTUD (G‘I%aﬁ?)
2. Egocentrism/ @ ( ?ﬁ@@\m
3. Conservation/ IR&UT

4. Object permanence / I3 B
Correct Answer :-

» Object permanence / Hﬂ@ﬂfaa

20) Who developed a Psychosexual theory of human development from infancy onward? / AEERIT | W4 A F1 Th AR Rrgia fram
fasfra fear

1. Erik Erikson / TR® 33&e

2. Piaget / s

3. Sigmund Freud / R0 1S

4. Vygotsky / Wﬂ?\"ﬁﬁ

Correct Answer :-

« Sigmund Freud / [GUEE R

21) The concept of intelligence is more related to: /m 3q ‘EI'ITU'I'I'T\‘I'\Q itica mﬁa%
1. Concrete thinking / uwftpﬂ%iaﬂ

2. Intuitive thinking / Tgs ICGE]

3. Rational thinking / dh&TTd fefa=

4. Emotional thinking / 4G feid

Correct Answer :-

» Rational thinking / GERUGICTE]

22) Rorchach ink blot test consists of / TR TITET BT YT URT&0T = & ST Gl &:
1. 10 black cards and 5 coloured cards10 / TTa TRt 3R 5 T TRy

2. 10 black and 10 white cards / 10 STe 3R 10 TG Ul

3. 5 black and white cards and 5 coloured cards/ 5 PTA 3TR Wha U 3R 5 T U=y

4. 10 multicoloured cards 10/ E@T’ﬁ T

Correct Answer :-

« 5 black and white cards and 5 coloured cards/ 5 BT 3R Tqthe U0 3R 5 T T

23) When failures are punished during childhood, it leads to WASCE Eedrs & mﬁw%ﬁﬁaﬁa%mm% a‘ru‘s' MR A
ATl

1. Negative reinforcement / WW
2. Encouragement / Eﬁ?\‘TIE:l
3. Persistence / 80

4, Learned helplessness / ST faaerd

Correct Answer :-

« Learned helplessness / ST faaera

24) Maturity affects learning because it impacts -/ ufeuear iftRTH F guTiaa el % e g8 fA=1 W yuTa sTern %:



1. Motor skills/ IR HIRTS

2. Readiness/ ddXdl

3. Cognitive capabilities/ GAFTHD eanaft

4. Both motor and cognitive skills/ S TTeR 3R THTHS HIRA
Correct Answer :-

» Both motor and cognitive skills/ I AR 3R TIHTHD DI

25) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.
Attention, retention and reproduction are 3 of these conditions.

Which is the 4'" condition? /

TR SRATY Rigia & SRR, YU Aisii & e 4 ma<ae 2 §1

T, SGYURYT 3R U= 3 3 A 51

aef = Far g2

1. Situation / fRf3

2. Attraction / 3THYTT

3. Imagination / ed-T

4. Motivation / UROTT

Correct Answer :-

« Motivation / JRUTT

26) Creating positive classroom culture falls under the domain of : / Wa?&ﬂmmﬁﬁfﬂm &h% 3iata 3T %:
1. Social need /FITI'I'%IT:F SHTAYhdl

2. Affective need / HIATHD TARID AT

3. Psychomotor need mﬁwaﬁ SHTARGhdl

4. Cognitive need /ETHD ATl

Correct Answer :-
« Affective need / HIATHD TARYhdl

27) Which of the following can be described as a positive reasoning style for failure in achieving success? /ﬁ"}lﬁl@'d A | T BT U B |
BT P 1T Th AHRIAD aP wI3d & &4 H afofd # qhar a2

1. Environment problem /WW

2. Medical and Psychological Reasons /ﬁm"ﬂ GhTII—"haWW

3. Difficulty in writing /Wﬁw

4. Lack of Motivation and Interest to put efforts /Wﬁ?ﬂ?ﬁﬁ?ﬁmﬁw 3R B BT UG
Correct Answer :-

» Lack of Motivation and Interest to put efforts /Uﬂ-ﬂa@'ﬂ?ﬁa?mm 3R T BT 3T

28) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of parenting is known as:/

w?ﬁmﬁuﬁaﬁmqﬁm%ﬂﬁﬂaﬁaﬁﬁwﬁmhaﬂnawmmmaﬂﬁ%mwmé'lwmaﬁﬁ%ﬁnaﬁﬁﬂwﬁm
SITdl &:

1. Permissive Parenting / Hﬂj:hﬁ Rfe
2. Uninvolved Parenting / SRyHferT R
3. Authoritative Parenting / pTRe® W



4. Authoritarian Parenting/ TTaTG] URIET

Correct Answer :-

» Authoritarian Parenting/ e iife

29) Studies in human development take into consideration the period from: / AT fd®Td ¥ g 59 @Y F & & T@T &:
1. Conception to adolescence / Ty ¥ fraRaRT

2. Birth to adolescence / ST+ 3 farRIRTaRAT

3. Birth to death / ST § TRUT

4. Conception to death / T § i

Correct Answer :-

» Conception to death / e qg

30) CANCELLED

What is the full form of MBIT?/ THE13MES! &1 quf wu w82
1. Myers-Briggs test instructions / - fora witen Fdw

2. Myers-Briggs type of indicator / AR} R Wb dd

3. Myers-Bricks type of indicator / IR TR dhdd

4. Myers-Bricks test instructions 1 AT- oo wten fcdw

Correct Answer :-
» Myers-Briggs type of indicator / TR R dhds

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

A person’s way of expressing himself orally is called his --tion.
1. dic--

2. form --

3. ac--

4. dec --

Correct Answer :-

o dic--

2) Fill in the blank with the correct option in the given sentence:

Major firms are controvers-- sending more and more work to countries where labour is cheap.
1 -y

2. --ially

3. --ial

4, --ies

Correct Answer :-

o —ially

3) Which of the following options best combines the given sentences?



Would you rather live in a tropical climate? Would you rather live in a temperate climate?
1. Which you prefer, tropical climate or else a temperate climate?

2. Would you rather live in a tropical climate or in a temperate climate?

3. Rather you like tropical climate or would you rather live in a temperate climate?

4. Whether you like tropical climate or a temperate climate?

Correct Answer :-

« Would you rather live in a tropical climate or in a temperate climate?
4) Choose appropriate articles for the given sentence:

____ prospect is something that might happenin ____ future.

1. The ... the

2. A ... no article required

3. A..the

4. No article required ... no article required

Correct Answer :-

e A..the

5) Choose appropriate article for the given sentence:

He was abandoned by his parents and he became like ____ orphan at a very early age.
1. an

2. the

3.a

4. no article

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.
Several external influences have shaped Indian culture.

1. Indian culture is been shaped by several external influence.

2. Indian culture was shaped by several external influences.

3. The Indian culture has shaped several external influences.

4. Indian culture has been shaped by several external influences.

Correct Answer :-

« Indian culture has been shaped by several external influences.

7) Choose the appropriate synonym for the highlighted word in the given sentence.
He was given a lot of praise for his good work.

1. reward

2. disregard

3. compliment

4. flattery



Correct Answer :-
» compliment

8) Choose the appropriate tense to fill in the blanks in the given sentence:

The Mumbai Express usually on time, but today it late by an hour.
1. came... comes

2. comes... came

3. come... is coming

4. is coming...comes

Correct Answer :-

® comes... came

9) Choose the appropriate tense to fill in the blank in the given sentence:

I think it rain, I can see dark clouds now.

1.is to

2. will be going to
3. was going to

4. is going to
Correct Answer :-
« is going to

10) Choose the appropriate antonym for the highlighted word in the given sentence.

Studying science subjects cause a lot of frustration among students.
1. pleasure
2. pinpricks
3. sorrows

4. hassles

Correct Answer :-

o pleasure

11) Choose the appropriate conjunction for the given sentence.
the alarm goes off, I hit the snooze button.

1. Since

2. Once

3. As much as

4. As soon as

Correct Answer :-

e Assoon as



12) Choose the appropriate determiner for the given sentence:

In spite of ____ progress in his work, he did not lose hope.
1. many

2. much

3. any

4, little

Correct Answer :-

o little

13) Choose the appropriate prepositions for the given sentence:

____ Reston, Virginia, there is a modern school built a mountain.
1. On ... across

2.In ... inside

3. At..in

4. From ...on

Correct Answer :-
e In...inside

14) Choose the appropriate indirect speech for the given sentence .

“Politics is the game of the wealthy, it will not change tomorrow or even later” said Rajaji.

1. Rajaji called politics as the game of the wealthy and noted it should not change tomorrow or even later.

2. Rajaji told politics is the game of the wealthy and it will not changed tomorrow or even later.

3. Rajaji said that politics was the game of the wealthy and that it would not change the next day or even later.

4. Rajaji said that politics will be the same of the wealthy and it will not change the next day or even later.

Correct Answer :-
« Rajaji said that politics was the game of the wealthy and that it would not change the next day or even later.

15) Choose an appropriate modal for the given sentence:

This is a hospital. You not smoke here.
1. could
2. need
3. must

4. may

Correct Answer :-

e must

16) Choose the option that best explains the highlighted expression:
The plan has been given the thumbs up.

1. anod



2. has been rewarded
3. has been discussed

4. has been disapproved

Correct Answer :-

e anod

17) Choose the most suitable pronoun for the given sentence:
Did you paint this? I can’t believe that this is

1. his

2. yours

3. ours

4. hers

Correct Answer :-
e yours

18) Read the sentence carefully and choose the option that has an error in it:

A century has being scored by Sachin.
1. No error

2. A century

3. has being

4. scored by Sachin.

Correct Answer :-

» has being

19) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

What are the words of the opera known as?
1. Musical

2. Vocal

3. Lyrics

4. Libretto

Correct Answer :-

« Libretto

20) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

Where did Opera originate?



1. Italy
2. America
3. England

4. Africa

Correct Answer :-

21) Read the passage and answer the question that follows:

Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

How is drama presented in Opera?
1. Through music and dance

2. Through the orchestra present

3. Through costumes

4. Through primary elements of theater such as scenery, costumes, and acting

Correct Answer :-
« Through primary elements of theater such as scenery, costumes, and acting

22) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

According to the author, who is responsible for the trouble that emerges in families?
1. Children

2. Society

3. The parents

4. Relatives

Correct Answer :-
» The parents

23) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

In the passage, what are the basic needs for a growing youth?
1. Moral values

2. Respect and individuality

3. Family, love, attention, bonding and also moral values

4. Family, love, attention



Correct Answer :-
» Family, love, attention, bonding and also moral values

24) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

What should be respected in order to maintain the sanctity of the family?
1. Splurging pocket money

2. Overnight parties

3. Extravagance.

4. Independence and individuality

Correct Answer :-
» Independence and individuality

25) Read the passage and answer the question that follows:

The culture of nuclear families is in fashion. Parents are often heard complaining about the difficulties in bringing up children these days. Too much of
freedom in demand, too much independence; over night parties; excessive extravagance, splurging pocket money; no time for studies and family all this is a
common cry of such families. Aren’t parents, themselves, responsible for this pitiful state? The basic need of a growing youth is the family, love, attention
and bonding along with moral values. One should not forget that ‘charity begins at home’. Independence and individuality both need to be respected, in order
to maintain the sanctity of family.

What begins at home?
1. Learning moral values
2. Respect

3. Happiness

4. Charity

Correct Answer :-
e Charity

26) Rewrite the following changing the active sentence to passive.

Ria bought a pair of earrings.

1. A pair of earrings had been bought by Ria.

2. A pair of earrings had been bought for Ria by him.
3. A pair of earrings was bought for Ria.

4. A pair of earrings was bought by Ria.

Correct Answer :-

A pair of earrings was bought by Ria.

27) Choose the right tag:

I often come home late from office, ?



1.dol
2. don't |
3. didn’t |

4.is It

Correct Answer :-
e don’tl

28) Opera refers to a dramatic art form, originating in Italy, in which the emotional content is conveyed to the audience as much through music, both vocal
and instrumental, as it is through the lyrics. By contrast, in musical theater an actor's dramatic performance is primary, and the music plays a lesser role. The
drama in opera is presented using the primary elements of theater such as scenery, costumes, and acting. However, the words of the opera, or libretto, are
sung rather than spoken. The singers are accompanied by a musical ensemble ranging from a small instrumental ensemble to a full symphonic orchestra.
The Italian word opera means "work", both in the sense of the labour done and the result produced.

What is the meaning of the word “opera”?

1. Energy

2. Scenery

3. Work

4. Lyrics

Correct Answer :-

» Work

29) Choose the option that substitutes the given phrase appropriately.
In exactly the same words as were used in the original
1. Facsimile

2. Duplicate

3. Photocopy

4. Verbatim

Correct Answer :-
e Verbatim

30) Choose the right tag:

She grinned at you ?
1. isn't she

2. wasn't she

3. didn't she

4. did she

Correct Answer :-

« didn't she

Topic:- General Sanskrit(L2GS)

1)
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STeTUG gdehdl IIITEd gasadl UIeAlfd| TATeRr: UF golsl: oidl 3TEHId
AHATA AT |

TRIcAT- 3cTF 3 Ycad: Hald-



eellehl TfScar 3rellged YR gTdshedel JaA -
i G STefell TaYH , WIS &I 87oT9 1T TaaUsH |
FeIfetet: fob &1 shIfeT aTd, &fiom 57T fersereo srafed ||
Ie1sT FHGT HITAHSATETON FoITaIcT e or aifee |
U TefloAT cTHATHIAT o AArdeh 07 FATAR o ||

Td o AIhHANYT FARR e |



aRese afscar Jeaed YeHc Faad -

STeleehlel BT INT: 6 dHled €A | dAd IFATA Fdled €A | E:
TEFel: 3fd FAT | URNTAETOT URILT: I¥hol AT TH | T 5TH
T g ferodgfa: gfd gdd oA U ggfd: deered. giEer
3T | TFFe! T T Al BHEE TTerdafd |

ATATFTPEARUAET:  3UYY TS Hled | TATIOT  ATHAAT:
facamsarg: areHih: Tepel HAd A  U@E TT | HErARA

ACIATAIRT: FHY Feorpderar: fGegreard: ead 3fd ad Sea: |
Td @GGAY 54 ggla: UidEried |

ohol BIAT: EAEHACIAH, 38U Fdfod | 3AA HE Jeboladiaie
MG ScUEdled | UIa: &I o s Pafed | IR W

ch&'l?d | BTET: TEAVETTTAEATAG T EIRIATUT ETIAT qané?-?d | ST

agau‘rﬁ‘r 3TEfIT 3= FTETEION IR Eafd |
31|ﬂ|dchch|oisfﬁ‘ 96d: el a‘c{%m-_alﬁ?rr FAAfed | 3T UEAdud:
e Wﬁ?ﬁ?—lﬁﬁﬁﬁm AAATAYATATH 3eAIAANT s7afd | b

TR 3MfAhaleshel BIAT: ehel dHIed EATIRIT TITAIEeT: I

, eTeaa
Correct Answer :-
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eellehl fScar IreNfATESeTT Ty YGHR AT —

faufe eiFemsaed &7 A areFuedr afer fasha: |
ATl Tnferseie dt upfdfagiae & #grcae ||
frarFaveRe ad qofed Seda: |

AT dad aFdcd ddel &l aigdr |l

FFdIH AT UcId: Hafd|

gellenl gfScar steNecd Uea gfdehedel Taad -

TSI &JTCAT STeleil TaYS , Wieiel &JUTciT #7191l TaHUSH |
geIferT: foh & AT ara, &fiom ST fseheon srafed ||
qels T THET FETHIASTEToN JeTaTaT s ol Tlied |

TF Follell SHTATSIAT o FArdhATToT TATA e ||

AraRAIOT 37 3T JATY: |
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Correct Answer
TR
11) X .
IR IfScaT TeTE T YSHR JIId -
STeleehlel ST N IE dHied €A | d3d AT pdled TA | E:
TEFel: ST FLIS | ITAATIEGTOT IIer: ool oTafd T | 37: 5T
Tkl Teier freoragta: sfd a@rd edgA:l vWr ggfd: deereld IRaer
3T | TBFel T TT Al BT, ITordfe |
AAdeFTSIERUACY: 30Ny UHen: dled | AR oasher:
faeamsara: aredih: qedel dd A J U@E TT | AR
AR FAT Feorpderal: faegmeama: serad sfa o SeE: |
Td HIGIY T Ui GRAGIEd |
Tohel BT dERMEAGHTH 36U Fdfod | AT g Tohellaaraiic]
AMPIEI ScUCAled | UIa: HF o el Paled | YA HEH
$dfed | BET: TEITETAAEATAG! o ma:ra‘rﬁ’r AT Fdfed | BHET:
agaw‘rﬁ"r 3l e IRV IR aafd |
3-1T¢-llu-|chchloisfef agd: Ioepoll: aaemm—rr eagafed | 39 URAaw:
e mmmﬁaﬁamﬁmr AATANATAH TEATAANT safed | oo
TR 3MfAhaedhel BIAT: ehel dHled EATTRLT TIEAIEsT: 3T
uredied |
Tepel Al 54 HITd TH -
e
, T=T
3
Il
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eellehl fScar IrNfATSSerT UReTed AR AT -
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IR Ifdcar TeAET YSHcR FIId -

Urfellel BMET: IR 98 qlled TH | T3d 3T Faled T | @
Tepel: S LIS | URNATAETOT WL ool HIfd T | 37: 5TH
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38T | ¥l XU TG Al B drerdfd |
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g Hﬂ'{lﬁg g ggfa: aeed |
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geIferT: fob &1 A ard, &fiom 577 fsereo stafed ||
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TG rell=dl THATHSCT o Srdeha 07 FHTAR o ||
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oifdieh: STEAUT: 3UGelh: ° NI dTed HAGHIG: HEDAUTGATATH
HAYSA| A YAEIARATICATeAId .U, 341l [glcar 3TeATdeh: 378dd |
HAed¥H 3TH 3Taaq UG I@Icar Hele] HFUlaeh:, drarehlel:, ECRE
HIYUThdl o 3T#ad| ARAIT-TEpd: WA 318 HgTAET: RV feeg
faeaiacarera:’ sfd == #gd: GEAET EAUAT Hde| dar o 34l
Uq TE GEAGE GUH: FAUTd: Al SiaUASidea] AT
FCIEAEART Uldse: Had| 3El FHcaRs:, ARARE 8adr:
WEH: e, Hedaddl, AU I R AT MeoAd FTAHRAAY
AQY 3T IUEAT IHGA| HEICHAT IeEl HAHT TSI dH
ATl IoIT 3 ARAEIATR: WA §Ade: JHHad quiy
JTAT: AEH: AR SeAl: T FHARCHAT T TEAFHAH 3ol
toye gd a¥ Il WlREITSdl Wi RO cdsgdl  anid,
Sievcigdehdl UIiaed easadl Wt | UdTeel: Ud gofsf: aAdr 37id|
AATT ATAAIT: |
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URTde 9fScar UReAed YEH Jaad -

HCAHIGTHATOAIIET ST 2¢s? dH Tohtdied TR 378ad| 38 fOar
qiffeh: STEAUT: 3UGeh: T NIl Sed HAGTHIGe: HEhAUTSLATATH
US| dd™ GIAEITTICATAT ST, 3UME J[glear 3egTeh: 3787d |
Hefed¥H 3H 3Taaq AT Iglcar Helel HF9lGep:, dekehlet:, 3T
HINUTehdl o 3787 HNAIT-HEehd: &I 376 HGISIRT: IRV %q
faeafdearera:’ sfa AW Agd: GEAWTET TAYAT Hade(l dar T 34t
g JXT TEAEET TUA: Feufd: 3e7ad] Hfdugaseeay AAed:
FITEEA™T ufgse: 3ead| 3 [AAeERE:, ARARAT:  §eadnr:
ULH: e, Tcdderdl, FoNUIhall o A 37cT: dedta ey
AQY 3T AUET IHeTad| FelcAT Il AT TEoISOHIIdedH
AT IeI 31T ARAEAdRAn: g8 §Fde: 3ad quiy
T AP AR STl T FHBCHAT T TEAFAAA  3Hde|
eye, @ af I WoleEesdl A% SRUTAfRawdT dvadr A,
STeAuCGigdehdl UMAaEd adsadl Ul TdTeRr: T gGelsT: aidl 3
AHATA AT |

ATTARRY Sglocd: A a¥ FHeId-

238l
, 2%%Y

5, 9R¥E

4 {]¥o
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. 9%yE
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Correct Answer :-

. 9Tl

Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an

3c(a+ b)THF __RI

1. algebraic equation / STSTOTCY FHTEHROT
2. monomial polynomial/ww
3. binomial polynomial /WW



4, trinomial polynomial / TS Igue

Correct Answer :-
« binomial polynomial / f§UcIa sgue

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
R x4 A TP RGP P daaa gl 8P

3R I BT UG x-37ef B BUTHS MR Ra g, A g p A &:

1. Ordinate = 8 /e =8

2. Abscissa= 8 or -8 / {sT = 8 3{dl -8

3. Abscissa = 8 / Yol =8

4. Abscissa = -8 / Yol = -8

Correct Answer :-

« Ordinate = 8/ ®ifc =8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is: /

Ife TP o add WP BT 9 YENT QoTbd 12320 7 A1 9UT 37T My Br=ur 56 4t 2, o st Sard &
1. 42 cm/ 42 94t

2.24 cm /24 T

3. 40cm / 40 T

4,21 cm /21 31t

Correct Answer :-
o 42cm /4291t

4) What is predecessor of natural number 1? /
UTpd AT 1 B Ydadi e a1 872

1.2

2.1

3. no predecessor / B1S Jddd! T et &

4. 0

Correct Answer :-

» no predecessor / EaES Eﬁﬂ?ﬁm TE

5) Which one of the following is not an objective of scholastic assessment? /
fFrafafeaa & & #9-a1 fagFl $ geaied o1 U IR 6 82

1. Knowledge / JTH

2. Analysis /WEI'UT

3. Comprehension / JHH

4, Attitude / TIgRT

Correct Answer :-

« Attitude / FHIGRT



6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TP U Uy &1 TRUT 45 At 31 9P TH Youl $t da1s foba-il 82

1. 9cm/ oG

2. 9.5¢cm/9.5 3w

3. 7.5cm/7.5 98

4. 15cm/ 1594t

Correct Answer :-

« 9cm/9

7) pZ+gqd-z°

If p=-2, q= 3. and z= 2, then find the value of -

s +pa-paz

R 210925 .

afy p=—-2,¢=3,79 z=2 &, ar mfﬂ AW T F
z

= +— e =
x*—5x+6 x*—7x+12 =x“—6x18

1. (x-3)
2. (x-2)
3.0

4. (x-4)

Correct Answer :-

The diagonals of a rectangle PQES intersect at the point O. If
£P0OQ = 130° then £ORS =7

3 PQRS & faet vhge 7 fig O W afaeda #xd
£ afe £POQ = 130°, dd £ORS =7
5 —R




Correct Answer :-

250
10) The area of sector of a circle of radius 10 ¢m and of angle 60° is - f
10 ¥t =2 Gor 60° FIT T UF Td & HeWS & ATAR &
Esq cm/ Ea?‘r o
6 6
1.
? sqcm / ?Eﬁﬁ' o
2.

167 187
T sq cm / Ta?ﬁ' leﬂ:ﬁ'
3.

4. 157sqem/ 157 aif It

Correct Answer :-
157 157
gi sqcm aia?’r Epaly

11)  Given two right angled triangles PQR and DEF _such that 2 Q=30,

£D=30 and QP=DE write the correspondence if triangles are congruent. /

& FHAFIOT et PQR IR DEFSH &R U a1¢ § 7 2Q =30, «D =30 3R QP=DE
21 afg Bers wales € aF "eadr d

. ARQP=AFED

, AQPR=ADFE

3. APQR=ADEF

, APQRAEDF

Correct Answer :-
APQRZAEDF

12) APQRis an isosceles triangle with PQ=PR. Altitudes RF and QG are drawn to the sides PQ and
DR from vertices F. and Q If one altitude RF is 3 cm and the base QR is S5cm then GR= i

APQRUF THEfAE BEget 8, fAwd PQ=PR & <fideial RF 3R QG &l ofif Rud Q&
g1 PQ 3R PR &% ©renm orar 81 af v offeid RF 3 @9 § 3K 3mam QRS &+
garGR=__ |

1.4 cm /4G

2.3 cm/3 9



3.5 cm/ 59t
4.6 cm/ 6 qHt

Correct Answer :-

« 4cm/4Ht

13) AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the

area of AABCis _  /
AABC &1 U% Afegar ADE a1 AD & Azafdg M1 afg ABMD &I alF%a 2.5
{1 .9 AABC &7 &% |

1. 20 cm? /20 T2
2.10 cm? / 10 P2
3.5 cm? /5 32

4,25 cm? /25 JE2

Correct Answer :-

« 10 cm? /10 A2

14) . 1 . . . . .
Anu’s ageis ;d- of her mother’s age .If Anu’s age is 12 then mother’s age is /

3o T 3G IGHT AT T 3G # 1/3 B1 TG 3 KT 7Y 12 a¥ g A A Y &

15) The length of two trains T1 and T2 are 620 m and 480 m respectively. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the
distance
17
speed

ar e T1 wd T2 &1 oas FA 620 Hiex 3w 480 #Aex &1 A T3 &7 das
T T1 wd T2 & 07 & g 1 afg saahr afd 20 #Aexfas &, o T3 @R &
TIEHIH W U URE & UR oo & o0 Haedsd THT 71 F?

platform if it has a speed of 20 m/s. [time =

1. 3 minute 10 seconds / 3 e 10 %S
2. 1 minute 50 seconds / 1 fie 50 ¥
3. 2 minutes 10 seconds / 2 fiFe 10 & s

4. 2 minutes 40 seconds /2 fiFe 40 Ybs

Correct Answer :-

« 1 minute 50 seconds / 1 fFe 50 Y% S



3x+y+2 _  3x-y-1 x+3y+1i

If 5 y , then find the value of x and v.
_{’I% 3x+3y+2:3x—y—1:x+3;y+1 %.,(__h_ xI'Ei )‘$ AT ?ﬂ?f ﬁl

2

x=2 ==
5
1.
x—3=v=-5
g
2.
1
T
3.
4.x=2,y=3

Correct Answer :-

X=-2:V=_—13
-
17) oo o
If @ and f are the zeroes of the polynomial x* — 5x + k, wherea— f = 1,thenk=__. /
e aCd B 9GUE x* —Sx +k & YeAH GG a—f= 18, AMhk=__
1.—6
2.2
3.3
4.6

Correct Answer :-

18)  Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure 2 | Figure 3 Figure 4
Fully-filled 3 g 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 _ 8

filled squares

Less than half 9 7 B _

filled square

Find the figure with larger area. /

ot arferer & afttg ame dfie W 9 3tes fev aw &)

Fa} fohdr a7 | 3THsT] | HTHST2 | 3THS13 ITHsT4
HE]

gof w7 & s | 5 ] 6 4

GEIl

3T e1Y gar 7 - 2 3
e F A |4 4 - 8

8Ty @It

I Y FA R |9 7 _ =

aat

TSy &% &1 &1 HihsT AT Hil

1. Figure 4/ 3(ih ST 4

2. Figure 2 / 38T 2



3. Figure 1/ 3{iogT 1

4. Figure 3 / 31181 3

Correct Answer :-

- Figure 4/ 3iihsT 4

2 _ 4 3 _ 2
19) Find the value of 'K, if *~ ~2*+ 1 jsafactorof 2%~ +¥° —1l4x"+5k+6 ,
2x*+x3 —14x2 +5k+ 6 x2—-2x+1 \wr ;

Tfe 1 UPh UTH g, Y 'k’ BT A 3d P
L -1
2.2
3.1

4.3

Correct Answer :-

20) Find the missing number in the following pattern. /
Frafafea 3 & qu e g w1

7 ,1,5,__,17

1. 11

2.4

3.7

4.6

Correct Answer :-

21) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 ¥ Ydadf 37T 9871 F WRadl & & 3R BT id B

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-
* 88828

22) Find the GCD of 10, 20, and 30. /

10, 20 37X 30 HT HETH FIUTSIP (GCD) FId H1|

4. 30

Correct Answer :-

« 10



23) A scaled down teaching encounter is known as i
A (oS s18-) Rreror wead F = § ST oI 81
1. Macro teaching / 98 fR1&f0T (Heh! Affm)

2. Micro teaching / & TRIef01 (wTgen! Af=im

3. Mastery teaching / T0T fR1&for (ARe <ifeim)

4. Model teaching / Aied RI&0T (Aigd <ifeim)

Correct Answer :-

« Micro teaching / g&H fR1&ror (ATgsh! Afm)

24) Postulates are assumptions specific to .
il i d &t sgyRume 7

1. trigonometry / [ECALIGIG]

2. algebra / EISHIG]

3. geometry / SIS

4, arithmetic / KETING

Correct Answer :-

o geometry / St

25) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by i
TATNGH S <RI SR’ F GRT 3R B R fpar a1 &1 A
1. Al Kharkli / 37eT @ReRil

2. Abil-Wefer / 3ifd-dtR

3. Omar Khayyam / 3HX G&HH

4. Al-Khwarizmi / 3-TATNSHY

Correct Answer :-

o Al-Khwarizmi / 3T-TATSH]

26) is the ability for a child of two years who is able to distinguish between more and less things when he/she is fit to consume food.

; A T & I DI &A1 & S HISH BT STHNT S & 7T fibe 311 W) 3 3R o1 A6l & §ig ofdT & § 9&|
|

1. Understanding of notations /W?ﬁw
2. Recognition of numbers /WTE%‘TERH:T
3. Recognition of notations /Waﬁw

4, Innate number sense /mma‘ru

Correct Answer :-
* Innate number sense /WW@[H

27) Rhombus is formed by joining the midpoints of the adjacent sides of a i
F A s & Heafagsit & e & Tuagys a1 81
1. Rectangle / 3Mgd

2. Parallelogram / THFIGR agyst



3. Rhombus / ﬂﬂﬂ@’i\_ﬂ

4, Kite / gav

Correct Answer :-

» Rectangle / 3{1gd

28) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /

7 GSH| BT AT Tui 45 fHUT 81 399 V 6 P awi= 53 6, 45 fF, 40 forwm, 37 faam, 42 5 aut 50 3w 81 73 @eS &1 Il I B}
1. 42 kg /42 T

2. 48 kg / 48 famm

3. 45 kg / 45 faam

4. 50 kg /50 fu

Correct Answer :-

o 48 kg /48 T

29) The degree of the polynomial (2x —8) + (8~ 2x): /
| (2x —8)=(8—2x) Hua

1.1

30) The action verb for giving examples of different types of sets is ./
fafira R & w=al & Sareur 3 & g frares fsar 21

1. classifying / Ffferzor

2. comparing / T

3. differentiating / ﬁﬂ—cﬂ

4. listing / WUT

Correct Answer :-

o classifying / ETBROT

31) The graph of the linear equation 2x +5y =10

AP TP 2x + 5y = 10 FT AW TH 341 ¢ ot faig TR x-37e1 | forerar 21

1.(0,2)

is a line which meets the x-axis at the point v

2.(12)
3.(5,0)
4. (2,5)

Correct Answer :-



32)
Which property is used to equate: /

Tfiea HA F g e qurent 1 SuaT o s 3:

i. 19 x 13 = 190 + 57

ii. (-34-53) + 23 =-34 + -30

1. i - Commutative property, ii - Associative property /i - R ICIRE T, ii - GEARI 07
2. i- Distributive property, ii - Closure property /i - ﬁﬁTUTIFI?ﬁZ[UT, il - FHTYT 07

3. i - Commutative property, ii - Closure property /i - SFHEQIH IO, ii - FHTGH 07

4. i - Distributive property, ii - Associative property /i - [qTRUTE® U, ii - TEAR] 70T
Correct Answer :-

e i- Distributive property, ii - Associative property /i - [EGRUIEED 01, i - Hgd 3 qor

33) Choose the solution for the equation: x+9 = 12./
FHBIT: x+9 = 12 F A BT T4 DR

1.3

2.4

3.2

4.6

Correct Answer :-

34) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2 rounds of rope at the rate of Rs. 10 per metre.
Find the cost of fencing. /

JISHT P U 210 Hiex dat 3R 165 HeX DS} T MaATRR qraTe &1 98 10 30 Ufd Hiex o1 7 A T&A & 2 R A 59 1€ =1 I1gdr 2 | 918 oA
P AR J1d DI

1. Rs 15000 / 15000 35

2. Rs 7500/ 7500 300

3. Rs 6930/ 6930 300

4. Rs 693000 / 693000 T

Correct Answer :-

« Rs 15000/ 15000 39d

35) If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
a2 y-31e1 A T g B cfoaa g 4 gPTE R, A g #:

1.y coordinate 4/ y F&=ra 4

2. x coordinate -4 / x ISR -4

3. x coordinate 4 / x TSR 4

4, x coordinate 4 or -4 / x FET® 4 YT -4

Correct Answer :-

« x coordinate 4 or -4 / x RS 4 YT -4



36) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

Ife Ul (-3,6),(0,3) Td (3,0) Teh Y@ GHIH01 x T y A & &, ot FHipeor 8-
1. y=x-3

2. y=x+3

3. x+ty=3

4, y+2x=0

Correct Answer :-

37) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
I Y &1 % d J1d B et 2 p2,0), Q(5,0) TERG2) §:
1. 25 units? / 25 IHTE?

2. 6 units? / 6 3PBIS2
3. 4 units? / 4 SHTS2
4. 3 units? / 3 IPTE2

Correct Answer :-

« 3units? /3 3PRR2

38) Which one of the following points does not lie on the line 2y = 5x-2? /
ﬁaﬁr@aﬁﬁaﬁmﬁﬁg%m 2y = 5x-2 R T TE 8?2

1. (0,-1)

2. (-4,-11)

3.(-2,6)

4.(2,4)

Correct Answer :-

39) Which one of the following is not a teaching style? /
Frafafed & & o9 @ g e 751 82

1. Scolding / T=reaIT

2. Demonstration / i

3. Inquiry / SITd

4. Discovery / 339U

Correct Answer :-

« Scolding / TareqmT

40) Which one of the following statements is false about polynomial? /

Frafafaa A S9-91 $39 95U & Tey A s 32



1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x),
where degree of r(x) > degree of g(x). / IS UM & SFTAR, HIST TGUL p(x) P T8 WIS g(x) J T faam St 8, a1 HITheT q(x) T W r(x) 39 UPR
TR T p() = g q(x) + r(x), TET r(x) BT T > g(x) FT oG B

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / 9Td 3 F wuwa@ﬁﬁ SfAHIH 3 YAH) AP gl

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / UTd 2 & UIY TH dgUe § Hwad 2 LAH) RRELE

4. If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / Afc Teh THIHRUT BT AT x-3H&f ﬁa‘rﬁgsﬁ R Bl g,
FefteBROT H 2 I () BT & |

Correct Answer :-

« According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x) and remainder r(x) such that p(x) = g(x)q(x) +
r(x), where degree of r(x) = degree of g(x). / fATST TUMTAfY & STHR, UIsd TGUE p(x) P ST TS g(x) W AT e Sirerl &, A Wbt q(x) T 2 r(x)
wmé‘m%ﬁ? p(x) = g(x) q(x) + r(x), \_rrzﬁr(x) PTYUId > g(x) WEITH%I

41) Abscissa is also known as the ./
YN (YWIip) A W ST AEn R
1. X-axis / X - 3{&

2. Point /ﬁ’g’

3. Ordinate / BIfC 3f&f

4. Y-axis / Y - &l

Correct Answer :-

o X-axis / X - &

42) Visualizations and drawing conclusion is achieved through the study of ./

FHeUAT SR Y@ s & srends & wrens | e faan wmar 31
1. Analytical Geometry / fazavoeTe Sanfafa

2. Spatial geometry / TS St

3. Algebra / STOTTIOT

4. Arithmetic / KETIIG

Correct Answer :-

« Spatial geometry / S St

43) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle. The area of circle is: /Wﬂﬂﬂﬁm 44 '\Q'lﬁ%l

f THS 3 BR T |1y Wtg T o4 €, < I8 T a1l § 1 991 1 e 8:
1. 14 cm?/ 14 972

2. 44 cm? / 44 T2

3. 154 cm?/ 154 2

4. 28 cm? /28 I2

Correct Answer :-

o 154 cm?/ 154 32

44) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits interchange their places. Then the unit digit of the
number is: /

3 SPIY TEAT P 3] BT ANT 5 ¢ 1 Af T@I H A 9 TeTIT SITdT R, dt 3icp 31U R uRafdid @3 a4 €, df UBIT B1 SHTS 3/ §:
1.2

2.9



3.7

4.6

Correct Answer :-

45) If the perimeter and area of a circle are numerically equal, then the radius of the circle is ./

it gu B IR TUT Tra TeTAE EU AT, Agu i #
1. 3 units / 3 SBTS
2.1 unit/ 1 SHTE
3. 4 units / 4 THTS
4.2 units / 2 3PTS

Correct Answer :-

. 2units/2337'l'§

46) “Let no one enter who is ignorant of mathematics” was statedby ./
Iforg A AR FIS MafFR @I s’ RISl

1. Thales / Drci]

2. Pythagoras / UT_&'WW

3. Enchid / TS

4. Plato / e

Correct Answer :-

e Plato /@?ﬁ

47) The abscissa of the point of intersection of less than ogive and more than ogive is ./

=79 fawf (ogive) A w1 Tyt 919 ol F aiftre F ufasde g U @abscissa) 1
1. Mode / ST

2. Mean /He0

3. Median / ATE®T

4. None of the above / IR & F BIE ¥

Correct Answer :-

+ Median / AT

48) Find the odd one out. /
A1

1.<

2. =

3.0

4. #

Correct Answer :-



49) Generalisation of Arithmetic is: /
BT BT HTHRAHRT 3:

1. Algebra / oo

2. Probability/EITfaﬁT

3. Statistics / TRSTHT

4. Calculus / Fep e

Correct Answer :-

o Algebra / dreiforg

50) A single linear equation in two variables has: /

A Tra e e e §:

1. Maximum two solutions / 3% dH &l g

2. An unique solution / T 3ffgci g

3. Infinitely many solutions / 3d §&

4. More than 2 but less than 4 solutions / &l § 3if¥e dfp 4 QWBFI
Correct Answer :-

« Infinitely many solutions / 3=id g

51) 'Let no one who is unacquainted with geometry enter here' is connected with .

1S oft safey ot sanfafa @ sraRfa @, sefwaw s s, A et 21
1. The Sophist School /WW

2. The Platonic School /lﬁaﬁaﬁw

3. The First Alexandrian School / T8 A ST Thdl
4. The lonic School / &WW

Correct Answer :-
« The Platonic School /WW

52) Which of the following is considered as undefined term? /
fFrafafaa & Q f5a srafvufa ug ar=r mar 22
1. Point /ﬁ—g'

2. Quadrilateral /ﬂﬁﬂﬁl
3. Circle / 9

4. Prime Number / 3THTST S&AT

Correct Answer :-

. Point/ﬁg

53) The author of Lilavathi was: /

Arad & ae® 2

1. Brahmagupta / STeIT &
2. Aryabhatta / Gl'l'lfﬂg

3. Bhaskaracharya / YIRRTETY



4. Ramanujan / THTZS

Correct Answer :-

» Bhaskaracharya / YIRRTETY

54) CANCELLED

If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / Ufg P(3,-5) Td Q(-3,-6) &Y fag¥ &, 1 Q F P-Hife &1 YT 3:

1.0

2.3

3.-11

4.9

Correct Answer :-

55) CANCELLED
In APQR, 2P = 90° and X is the mid- point of PR. The value of QR? — QX? isequalto .
| APQR#, +P=90° Tl PR & HeAfdg X 81 QRZ—Qx* FT AW = R

1. 2P’X2

2. 3PX:

3, 413’}(2

4 PX?

Correct Answer :-

. 3PX?

56) 3Im6cm=7?/
3R et =2

1. 3600 cm / 3600 TH
2. 360 cm / 360 T
3. 306 cm / 306 9

4.30.6 cm /30.6 9

Correct Answer :-
« 306 cm /306 4

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins Rs. 20., and finds that he has exactly what he
had in the beginning .What was the amount he originally had ? /

T ATGHT T YRIR BT Up-faeTs R ST 8, Y 10 $ud Sitddr 8, 3TP d1g a1 & SHST UH-1aeTs R 9IIdT 8, 20 YA Siddl 8, 3 SUD U ST &l
YARTIRT & et sy & Y1 0P U Yo YARIRT fhat o2

1.Rs.12/ 12 300
2. Rs.24 /24 300
3. Rs.48 / 48 308

4.Rs.36/36 300



Correct Answer :-

+ Rs.48/48 %00

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and the largest angle is. /

Tfe FBIYS & B0 HT AFUTE 2: 3: 4 B, @ TIA BT 3R TaQ TS P01 & S HT 3R J1d e

60°
1.

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm, then its area is: /

i T W WY $ YT 12 i 8, Y 3D dABd 7:

156v2

2562

2163
3.

129v3

Correct Answer :-
2163

60)

Which one of the following expressions is false? /

Frafafae § & o9-a1 seie Tad 82
2)9999 <1000
b)1052<1025

€)958765>957865
1.Bothaand b/aTdbamr
2. Only b/%adb

3. Bothband ¢c/bTd c GHI

4. Onlya/ma

Correct Answer :-

« Bothaand b/aTdbaHl



